Mukt/Div

(M Sarah is baKing cooKiesS for a. bake
Sale at school. She plans 1o baKe 132
CooKies- Fro2zen Cookic dou.,k Comes in
pool(a.gcs of 12 cooKies. How meny
Pach;es of cookie dl&ql\. does Sarah

Need :

Let X = Pa.a/(o.?w of coolie dJmgh
Equtiom = |2 x =132
Séolv\‘l = /2 o

X =1/ /anKa.;/._y

@’ﬁm's cell Phone is billed every 30 da..js.
He is Charsed for every ot message
he Sends, bat net for these he receives.
His last bill Showed that he had
750 text message charges. On average,
how many text messages did Tim Sencl
¢ach dcu,?

Let x= # text messaged
Ej_u.a/h'm = 30X =350
_ 30 30
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